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W ¢ 3 G | [ gurfes @ 80
Time : 3 Hours | [ Max. Marks : 80
e () wwEwm-mamam ¥ /s ¢ 5, @ 3k T
Directions : This question paper is divided into three parts : 'A’, 'B' and 'C".
(i) w9 E q Wit & foe afverd 2
Part 'A’ is compulsory for all candidates.
(i) 9@ 3R T H Y PE OB U BA BIAT &
Any one part from Parts 'B' and 'C' is to be attempted.
(iv) weAt 8q FeiRa i 39 wRe qiftsa &
Marks allotted to the questions are mentioned against them.
(v) TS U9 DI AHIEs Uled o0 THT SR
Read each guestion carefully and answer to the point.
(vi) U =T 1 97 18 TG T3 &1 57 Ul &b Y WU P IR H IR fased
e 21 9E e o sRyRaer # e
Question Nov1 & 18 are multiple choice guestions. Four options are
given inkanswer of each part of these questions. Write correct option in
your answer book.
(vii) $H YeT-UZH GHT R D18 [aoed T8 & gy sfaqua ye=t & 3iaRke [deeq weam

fear M g1 09 el A Saa. v e &1 & 3R i

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the

given choices in such questions.
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W % (Fareme)
Part-'A’ (Accountancy)

L () BH & A0 R 9 Tl o 9 ol @t e o) R s S -

() T eI X (i) SR g W

(iii) T T R (iv) 399 & 1% 781

The balance of all assets are transferred to Realisation account in firm's
dissolution :

(i) On book value (ii) On market value

(i) On purchase value (iv) None of these

(@) P,Q3RR5:4:1 %mﬁmﬁﬁmm@v@m% P 5 Y 31T T
BT £l P%WW@WM&S@EQH‘&TR&[W—W&?}WgﬁW: 1

(i) 14 (i) 1:1 (i) 4:1 (V) 4:4

P, Q and R are partners sharing profits in the ratio of 5:4:1. P retires from
the firm. After the retirement of P the gaining ratio of Q and R will be :

(e iy A ILe T (iil) 4:1 (iv) 4:4
(1) ©F IERER! B8 § AEERT & it aar & - 1
() g (i 3R (i) WgHATT (iv) T N P T

The liability of par&iers in a partnership firm is -

(i) Limited (i) Unlimited  (iii) Jeint Liabiiity (iv) None of these
(|1)  319RS 3RS Y: oot R gU oy &1 oo @y o eeeiaRe oo s e 1

(i) 9 379 @EmET (i) Gt T @rer

(iil) AT HaT Gl ‘ (iv) 37eT G537 arer

The profit on reissue of forfeited shares is transferred to which account?
(i) Bonus Share A/c (i) Capital Reserve A/c

(i) General Reserve A/c (iv) Share Capital A/c
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(T) U9 o ST YA SERAT 9 &% U & Reifa & 35w 3 oWl o Feid)
RAVR BATE, d 8 - 1
(i) fera =os (i) 3RfEa oA
(iii) URTERT oA (iv) 3TIRGTRI 0T
Such debentures which have charge on asset of company for the purpose
of payment in case of default. They are -
(i) Secured debentures (ii) Unsecured debentures
(ii) Convertible debentures (iv) Non-convertible debentures

(@) 3fEred §7 B a8 ¥ SN ST & o & o Faffa fosar st @, o s € ¢ 1
(i) o gam (if) afoa o
i) Tt Ganr (iv) <fae Ut

The portion of the authorised capital which is issued for subscription of the
public is called-
(i) Subscribed capital (ii) Called up capital
(iii) Issued Capital (iv).Reserve capital

Ader: U9 T -1 $ 3 &1 Gugl H, 3 SUAT DT SHHAF (A) TAT BRI (R) F T
¥ fafvga o man &1 Frafarfad et (), (1), (i) 32 (iv) H F THax 3901 98
IR alfore|

Directions :In next two partscof Question No. -1, there are two statements labelled

as Assertion (A)=nd Reason (R). From the following options (i), (ii), (iii)
and (iv), select their correct answer.
(i) AT REH] & & TT R, A & T&! T el 2l

Both A and R are correct and R is correct explanation of A.
(i) ATALRIH FEl & IR R, A Bt Tl 2T el el 2

Both A and R are correct but R is not the correct explanation of A.
(i) A T 8 WR=] R TAd &

A is correct but R is incorrect.
(iv) AT REM! o &

Both A and R are incorrect.
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() 3@ (A) : T IR B | aiftrpaw 50 IR 8 9%y &)

BRI (R) : YRART ARIERY s7ferfreny, 1932 H WeiER) & siftreay O Rreifa
gl 1

Assertion (A) : A partnership firm can have a maximum of 50 partners,

Reason (R) : Maximum limit of partners is prescribed in Indian Partnership
ook, 1932,

(31) s (A) : aft AR o & w1 agE o e 98 2 A aReR @) R
TTE U1 WR 6% Ui a9 &Y & ¥ <A1a7 foram v 2
BRI (R) : AIERT Hoig & 31919 § iRy s, 1932 & yraen= &y 8
%“Is?rw,mmaﬁ%emamws%qﬁraéﬁaﬁw%mmaﬁ%&
3T, EHd SNST &R W 1T BY A 2| 1
Assertion {A) : Interest on loan to partner is charged@6% p.a. if

Partnership Deed does not provide for the charging of interest,

Reason (R) : In the absence of Partnership Deed, provision of the
Partnership Act, 1932 apply. Thus interest on loan to partner should be

charged@6% p.a. otherwise, interest is allowed at the agreed rate of interest.
T : szawﬁ%ﬁﬂuma:ﬁaswga'mimwsﬁ—' &Bd X 3= 3T
IRy § foriap|

Note : In Question No. 20& 3, mark 'True' or ‘False' against the given statements

and write thehiin your answer book.

2, q?frésf%mt:r:ﬂwﬁwﬁﬁaﬁfﬁmﬁmgﬂ@miwuwmm%‘l1

In the books of the firm at the time of dissolution of the firm revaluation account

is opened and not the realisation account.

3. BRI S food T it Y 9 R g Rnife 78 ax Tw 2| 1
The company cannot re-issue the forfeited shares at discount.
4. iﬁm%maﬁ%mﬂ%w%wﬁnmé,mmé? 1

What is called the part of capital which is called up only on winding up of company.

432 (ICB) [4]
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5. ﬁ%%-%%wiﬁm‘wﬁm’aﬁaﬁnﬁﬁﬁmﬁmﬁ
&9 &l BT A1e? 1
According to SEBI guidelines, the ‘minimum subscription' of the capital should
not be less than what percentage of the issued amount?

6. A3 B 3:2 % I & AH-EI IS PRI Y R & C &1 T TTHER & ¥ H
e R ST 21 A BT R @7 1/2 3R B 31 R 1 1/3 T C o UET H T AR
2| 1 g1 TS 3UTa & O BTl 2
A and B are partners sharing profit - loss in the ratio of 3:2. C is admitted as

new partner. A surrenders 1/2 and B surrenders 1/3 part of their share in favour

of C. Calculate the new profit-loss sharing ratio.

S R <eRE $ o #, e 3 e § aan Faw 2

In the absence of Partnership Deed, what are the rules relating to-

)

ofit sharing Ratio
(i) Interest on Partners’ capital

g, 3fy-arfiEs 3R ‘SreT-afieE 3 3R §aRe
Distinguish between over-subscription and under-subscription.

9. e TwdT 39§ FT AT 72 2
What is meant by sweat ‘@qdity shares?

10, AZRE UH B ARERE S o & I B aRTeR- I sedt &1 138, 2021 B 3T
37 gwgT: T 20,000GHT % 16,000,207 o 2021-22 & ek Ui R fom =t et I
=157 7 10,000 AR FIEIER B I & arett iy FaTe | S e Her e-
RyeoT % g U7 0R 59% Hf 9 1 R & TS BN WIPHT ol & 4

A and B are partners in a firm sharing profits and losses equally. On 1st April,

N

2021 their capitals were < 20,0QO and ¥ 16,000 respectively. The net profit
during the year 2021-22 without charging interest on capital amounted to
¥ 10,000. Calculate the amount to which each partner is entitled. When
partnership deed allows interest at the rate of 5% p.a. on the capital before

distribution of profits.
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i 3¢,aaﬁ?a%qﬁﬁmﬁm%ﬁmﬁaﬁwmﬁaﬁﬁ%‘i SECARYE - M
90,000, 760,000 9 % 40,000 | WIRNERY WeRRe B AR o 0 = Y 2% 10% a1
gl iﬁwwwwﬁ%waﬂza&%mwooésm'ﬁ%aﬁﬁaﬂﬁm
TN SRS IS gfafte Sifswe| 4

A, B and C are partners in a firm sharing profits equally. Their capitals are

80,000, ¥ 60,000 and ¥ 40,000 respectively. As per partnership deed interest

en capital @ 10% annually. Interest on capital was not provided and profit for

the year ¥ 90,000 were distributed. Do the necessary adjustment entry,
3RMEI/OR

T 3TUTT T &2 SHDHT T0HT J} ) 7y b

What is sacrificing ratio? Why is it calculated?

12. 1 3911, 2022 &1 M, Tegw . 3 9= ¢ 10 TTCY 500 37T % €% &) 7== = £ 4y g7y
B &R F YA b o, 3! TR 1 HareTes 3 vh W yer o s T HH:
R 271 4 51 3T B R T gy ST & BRI 3% 3791 B =20 == vy 717 |
g, 2022&&%@3@?4,5001#{012?{6@#3?%&;?%.—7 ST B
qRADI H ER0T vF g & RIS giafedt 4
On 1% April, 2022 Ram, was the holder of 500 shares of ¥ 10 sach of Satyam
Ltd. He has paid at the rate of 7 4 per share. At a meeting of the Directors held
on that day his shares were forfeited for non-payment of the first and final calis
of ¥ 2 and ¥ 4 per share respectively. On 1st May, 2022, shes= shares were
reissued to Shyam for? 4,500 asfully paid. Give the Journal entries for recording
forfeiture and reissge’in the books of the company.

13. U feiffics 5 v el o Rifee 9 2 4,00,000 ¥ 5521 Y 3R ==y 100 9fy ai9y
Bl R 3 3ien S a1 yfdfte & st afy afelt & S
(37) 9T WX &

() 10% WfgE & = 4

X Limited purchased a machinery from Y Limited for < 4,00,000 and issued
shares of ¥ 100 p.s. for payment. What will be the entries passed if the shares
are issued:

(a) at par

(b) at 10% premium

FHYAT/OR
432 (ICB) [6]
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14.

FOTGH ¥ 37T T T &7 FOTTE 5 e % A9 HeR1 &1 guiE SR
What do you mean by debentures? Explain the three types of issue of debentures?

M T8 N R 9 3R aret @1 s 3:2 % S § & 3 frge= & farfdr o= 37
§fsrdt Y- M : % 7,650 N : X 4,300 | BFERT Y IR < 27,500 | s A X 760 ATl
el & 2 25,430 T BU, HIG A X 1,540 9, T+t e e |

a@m@waﬁmm%ﬁg&@ﬁ@mﬁm' 6

M and N were partners sharing profits in the ratio of 3:2. On the date of
dissolution their capitals were - M : 3 7 650 N : T 4,300. The creditors amounted
to ¥ 27,500. The balance of cash was # 760. The assets realised ¥ 25,430, the

expenses on dissolution were 7 1,540. Ali partners were solvent.

Close the books of the firm, showing the Realisation Account, Capital Account

and Cash Account.

= 7= =ogA T 95 R Frifi, 3 100 R AEHE

5 T UA T 95 TR P, 105 W eH

F) TS FHOWF T 100 R Frif, 105 R e |

(@) ©F FOT U 2 105 R FrifiE, 2 100 R WEHT|

See U1 UF @1 i frd 3100 &l

Jjournalise the transagiars given below :

(A) A debenturelissued at 395, repayble at ¥ 100.
(B) A debentdre issued at Z 95, repayble at ¥ 105.
(C) A debenture issued at Z 100, repayble at ¥ 105.
(D) A debentureissued at ¥ 105, repayble at ¥ 100.
The face value of debentures in each is ¥ 100.

3dr/OR
ey a1 g e &2 R e 3 i a1 e w7 e Sl

What is meant by 'Share'? Discuss clearly the various kind of shares.
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16. 31 3R § U6 WH # WIRER & 701 ey s Srura 2:1 1) W 1 31 I, 2020 @Y

HHIGE EF a1 9y T 3 gt o TR & 6
g SFRIST | Tt RIS
g fqum 5,000 | I8 &1y H 5,000
fofig eer 29,000 | JdE d H 20,000
e g . 1,000 | faf¥E e ER 30,000
EEIRCIcE Rgfern 20,000
: 31 90,000 gl 50,000
§ 75,000 1,65,000 | ¥WaT 75,000
2,00,000 2,00,000

T Bl ol ) 2 TEER 6w A yaer o man
1. GH o ol = 1/4 99 & fofe 7 50,000 57 31 7 30,000 @Ry % w9 F )
2. gfan ¥z 2,000 3 ot e &)

3. OERI R 5% &7 3% ¥ HiATe 0T & Was= g7 S|

4. %500 & OHERT 37 FHeReT 781 fbar T 2

YifSe B & Yeeaie ST @ SRR $ U7 W $UR a1

A and B were partners in a firm. Their profit sharing ratio was 2:1. The balance
sheet of firm for the year ending 31st March, 2020 is as foliows :

Liabilities Amount| Assets Amount
Bills Payables 5,000] Cash in hand 5,000
Sundry creditors 29,000| Cash at bank 20,000
Outstanding Expenses 1,600| Sundary debtors 30,000
Capital Accounts : Inventory 20,000
A 96,000 Piant 50,000

B 75,000 1,65,000| Building 75,000
2,00,000 2,00,000

C was admitted as a new partner on the following terms :

1. C brought.X 50,000 as capital and ¥ 30,000 as goodwill for 1/4% share in
the profits of the firm.

2. Inventory is to be increased by 2,000.
3. Provision for doubtful debts will be mode on debtors @ 5%.
4. X 500 of creditors were rot recorded.
Prepare Revaluation Account and Partners' Capital Account of reconstituted firm.
341/ OR
432 (ICB) [8]
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1

W%Wwﬁmmwﬁﬁwwéwwﬁ%wﬁm
o 87 géﬂﬂ?ﬁ%%ummq%ﬁaﬁaﬁﬁm

What do you mean by Retirement of a Partner? What are the rules relating to
valuation of Goodwill at the time of retirement? Give necessary entries to illustrate

these ruies.

aﬁyﬁaﬂ?mwémaﬁ?%ﬁﬁﬂﬁge% 371 Uil e AT < 5,00,000,
2 500,000 3 T 8,00,000 T A TUTSTH ST 5:5:8 ATl

—T~rr¢mﬁ%¢mmw@%ﬁva€ﬁﬁamm%amﬁ
=== S B S R O o e e e < 3R T < ST [alerae e
%ﬁﬁﬁﬁarwﬁww&ﬁﬁ%m%@éswmﬂ%wﬁﬁm
%ﬂﬁmé&aﬂﬁmmmm,mwwﬁﬁ%aﬁﬁmﬁwﬁaﬁ
ﬁﬁm%mwﬁwﬁ%maﬁ%@aﬁ@amwﬂ%%ﬁ%w%wﬁ?s,oo,ooo
fear ma

SR ST 3 FUR R FrAfRad yee &30 Qo -

0) W,W,mﬁaﬂ?wﬁﬁwmﬁmﬁﬁmmm? 1
(30 et G R
() 5:5:4:4 (@ IRRHH T P T
(i) T IR RN ST e 18 Ustt Y RIS T NP 1
(31) .5:00,000 (§) % 8,00,000
() % 4,00,000 (8) ¥ 3,00,000
(i) w4 3w & ged @ O il 2
(iv) v ST T T TR & e 3 fore S sfafe STl 2

Ranjan enterprises is a partnership business with Ram, Shyam and Mohan as
partners engaged in production and sales of electrical items and equipments.
Their capital contributions were ¥ 5,00,000, ¥ 5,00,000 and ¥ 8,00,000
respectivily with the profit sharing ratio of §:5:8.

432 (ICB) 9] ‘ [P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

As they are now looking forward to expanding their business, it was decided
that they would bring in sufficient cash to double their respective capital. This
was duly followed by Ram and Shyam but due to unavoidable reasons Mohan
couid not do so and ultimately it was agreed that to bridge the shortfall in the
required capital a new partner should be admitted who would bring in the amount
that Mohan could not bring and that the new partner would get share of profit
equal to half of Mohan's share which would be sacrificed by Mohan only.
Consequently to this agreement Sohan was admitted and be brought in the
required capital and ¥ 3,00,000 as premium for goodwill.

Based on the above information you are required to answer the following
guastions -
(i) What will be the new profit sharing ratio of Ram, Shyam, MoHan and Sohan?
(o) o 1 (b)i i 55 WS
() bbb 4 4 (d) None of the above
(i} What is the amount of capital brought in by the new partner Sohan?
(a) ¥ 5,00,000 = (BAK 8,00,000
(¢) ¥ 4,00,000 (d) T 3,00,000
{ii) Caiculate the value of the goodwill of the firm?
(iv) Do the journal entry for the Premium for goedwill brought in by Sohan?
HBT @ (faeiiar g &1 feeon)
Pait="B' (Analysis of Financial Statements)

18. (@) TRE1 a9 &1 g & Wesg A9 F gu aRkad & sRoi @ e 53 2 B

w1 oo faaxor s9man sy &) 1
(i) ETH-BIN STaT (iy 3 faer
(i) P FaTE faaxoy (iv) o8 YaIE fgexor

Which of the foliowing fimancial statement is prepared to analyse the reasons
of changes in balances of cash during accounting year.

{i) Prefit and Loss A/c (i)  Balance Sheet
(i) Fund Flow Statement (iv) Cash Flow Statement
432 (ICB) {10 ]
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(W) FOT-HaT I € :
(i)  IRET 3TUTd
(iii) & JedT AU
Debt-Equity Ratio is-
(i) Liquidity Ratio

(iii) Profitability Ratio

(i)
(iv)

(i)
(i)

I &HT SIOTd
5 A BIS TR

Solvency Ratio

None of these

e : WWWF{‘&TEOﬁ%ﬁw&wﬁ$ﬂﬂi@jﬂw%?w;@ﬂ3i%ﬁﬁﬁm

FeRgRasH! H e

Note : In Question No. 19 & 20, mark 'True’ or

ments and write them in your answer book.

19, e FEIRT UE e AT T SR iU 2:1 T

Ideal ratio of current assets and current liabilities is 2
20, FE AT faRvT T6 3R & afess I3 T & &

Cash flow statement is nothing but a cash. budget.

21, e YaTe fIaRuT & SIS A1 39ANT Y|

Give any two uses of cash flow statement.

22, afftre for. & FrmfcTRad 29y -

2013 % 3 | faf=ir
2014 ¥ 3ra g faranT

40,000
33,200

'False' against the given state-

.

=% % S B 3 25% TR € 9000 & TTH W 89 U fe s 3 ad § 20,000
awﬂ%m%ﬁﬁmmﬁﬁwmﬁémwﬁmaﬁml

Amit Ltd. had the foilowing balances :

Investment at the end of 2013

Investment at the end of 2014

40,000
33,200

4

During the year the company had sold 25% of its investments at a profit of

432 (ICB)

[11]

[P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

< 9,000. Calculate cash from Operating Activities and Investing Activities, if the
company had earned a profit of ¥ 20,000 during the year.

23. FfeiRea GammT & SeR 3mae 3uTd B TUFT BT - 4

3
TRFTE aER 24,000
GRSt R TAR 36,000
GHERT 9 9T J1HS 1,68.000
fama am= 12,000
Calculate Debtors Turnover Ratio from the following information

Z
Opening Debtors 24, 00C
Closing Debtors 36,000
Cash Received from Debtor 1,948,000
Sales Returns 12,000

312@T / OR
3T faeeisor a7 27 39 3Rl & e S|

What is ratio analysis? Discuss its objectives.

24. TIC] FRARIE & H9erE) § e g6® 31 Ramsx 2018 oY wig 52 72 2

2
RS 25,000
aER (IF) 12,000
T 8,000
qded > | 2,000
GRTAES 12,000
catas 3,000
fgh! 53,000
g : 34,000
B qra 750
3t T B HYR R 7= B M0 DT - 6
(%) riend Yot srurd
() reg 3T
432 (ICB) [12]
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The following data are being taken from the records of Tata Corporation as on

< ST
-~ ~3C

Cas

December, 2018-

h

Debtors (net)

Inventory

Prepaid Expenses

Creditors

Bills Payable

Sales

Purchases

Purchases Returns

One the basis of above information compute the foliowing :

(a)
(b)
(c)
(d)

18. (&)

432 (ICB)

Working capital Ratio
Current Ratio
Inventory Turnover
Payable Turnaver
AT - (SRTSTer g
Part-'C' (Computerised Accounting)
HRGERIPd eiRaic-T JoTen # |ikafer 2
) BRI (i) HHdTR
(i) ETEIER 3R TR (iv) &8 B T

Computerised accounting system consists of:

(i) Hardware (i) Software
(i) Hardware and Software (iv) None of these
[13]

25,000
12,000
8,000
2,000
12,000
3,000
53,000
34,000
£.50Q

[PT.0.
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(T) ST B G & fore =9 wonT e & 1
(i) Alt+F1 (i)  Alt+F3
(i) Alt+F2 (iv) Esc key

For creating a company we use:

(i) Alt+F1 (i)  Alt+F3
(ii) Alt+F2 (iv) Esc key
e : mmwamzoﬁ%awasﬁﬁm'g@jmwgﬁ:»%‘-?:?-?;‘:mﬁ,
FRYRAeE ¥ forae|
Note : In Question No. 19 & 20, mark 'True' or 'False’ against the given state-

ments and write them in your answer book.

19. Ted 3% o THIT @ W o o7 Raar 1
Gateway of Tally Screen is separated into six sections.

20. 91T ymoTs S & e & Fo g Ry 1
To view the receipt voucher, we select F6.

21. TREIS H IHT BT FASIANT &7 2
What is the use ofiWorksheet in accounting?

29 ﬁmwﬁémﬁ?ﬁ??ﬁﬁmaﬁﬁ&‘mﬁﬂmﬁ: 4
What are the components of database system? Explain each of these briefly.

23. PG5S THBICT NRTH & B IR 1Y asg| 4

State any four advantages of computerised accounting system.
34T /OR
H=GIHCT T BRIl eRTT gt ¥ SR S|

Distinguish between manual and computerised accounting system.

432 (ICB) [14]
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n ' R L

24. UTEN UM & e @Y 3k wh & F7af BT 9o T F S
Describe in brief the function of 'Table’, 'Query' and 'Form' of Access program.

% Xk Xk %k %k

432 (ICB) [15]
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